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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1 FF @ 3car =T (Answer figure) BT 71T 727 =T (problem figure) T TEr
ST Hfatee &7

Question ID : 9864493962
Status : Answered
Chosen Option : 4

Problem Figure

[
e el

A B C D
‘Which of the Answer Figures is the correct water image for the given Problem figure?

Problem Figure

F

e el

A B C
Ans (1,(:

X2 A

X 3D

X 4B

Q2 sy T9oISUT =T EN ] ?
¥ W ¥ foe # ¥ T Question ID : 9864493316
‘Which of the following is essential for the synthesis of thyroxin? Status : Not Answered

Ans qﬁi—é‘m-q];r Chosen Option : ==

Ko

Potassium

Calcium
| Iodine
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X 4 UERDY

Sodium

°-3;ﬁ€rar¢ﬁ:r—rﬁﬁ@mﬁgaﬁsﬁw1 T AT &7

Question ID : 9864492962

Status : Al d
‘Which of the fractions given below, when added to E, gives 1?7 atus - Answere

Ans « 1

Chosen Option : 3

M e A T tion ID : 9864492847
T ATl 3 B 5 a¥ ¥ B gar & #f¥a s T 375 3w dan s Question ID :
# oy #r w ofEr e o Status : Not Answered

A sum of money was invested at the rate of 7.5% simple interest per annum for 4 years. If Chosen Option ;-
the investment was for 5 years, the interest earned would have been ¥ 375 more. What
was the initial sum invested?

Ans 5 1.F 4,750
« 2 ¥5,000
2~ 3. 4500
X< 433,750

o g 3 s A, A o 21:00 T & 6 & uE ol D Question ID : 9864493880
g ' ! ® Status : Answered

If the number 1 on the clock is replaced by the letter ‘M’, the number 2 is replaced by ‘N’ Chosen Option : 4
and so on, then when the time is 21:00 p.m. the hour hand will be at letter.

Ans x1_T
X228
X3V
vu

Q6 e g 1

Question ID : 9864492599
Status : Answered

27 — [38 — {46 — (15 — 13 — 2)}] Chosen Option : 2

Solve the following:

27 — [38 — {46 — (15 — 13 — 2)}]
Ans x1_31

W2 35

&< 330

X 429

Q.7
Question ID : 9864493681

Status : Answered
Chosen Option : 2

Q.5 R uE 9T AT 1 F M @R, JaT 2 H N EF aeer faar sar § s
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T Rr R AR A A e i o d oA R &) e &
Rt & @ wdr " F garfase R gt =”T & 939 #i

4
e Redi s

B

The below figure is embedded in one of the answer figures. Choose the correct figure
containing the below figure.

4
o RKigdie 5

Ans \,1B
X2C
XD
XA

Q8 g gy & goT AT S T T fhg HRUT dedT § - Question ID : 9864493295

The girth of the stem or root in plants increases due to: Status : Answered

Chosen Option :1
Ans Uil ANECH
0

Apical meristem
v 3 It ANECH
Lateral meristem

2(3‘

Intercalary meristem

< 4 i 3

Exftra meristem
9 & Tlé' e *&EFIT H a@qﬁﬂa 9e ddq| Question ID : 9864493721
Status : Answered
Chosen Option :1
BGL, DIN, , HMR

Find the missing term in the letter series.

BGL, DIN,
A of 1 FKP
X 2 FPK
X 3 GLQ
X 4 EJO

HMR

Q.10 ot g=imer 1 T TaEl & &% 20 m?, 32 m? 31T 40 m? §1 O @ HEaT )
o 2 Question ID : 9864492854

The surface areas of three faces of a cuboid sharing a vertex are 20 m?, 32 m? and 40 m?. S BT L
‘What is the volume of the cuboid? Chosen Option :1

Ans
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V3024 m?®
V3024 m?
, 184 m?

184 m?
, 160 m?

160 m?
92 m?

02 m?

F !

x

v

X 4

Q.11 +ror ¥R 7w v T FEw S w1 w18 fE F wee s § weg
W N FE H 3 BT § AT v e w1 9@ w3 wE oI & B
STH A1E RO FE FH 3R T FAT 2l 5T TR Sl B FF # 40
e & 9o ax 9 # aft 7w wwer @ s A § = S e A wwer
Iper ey Rt & X # FF wA Har?

Sharan and Mayukh, working together, can complete a task in 18 days. However, Mayukh
works alone and leaves after completing one-third of the task. Then, Sharan takes over and
completes the remaining work by himself. As a result, the duo could complete the task in
40 days. How many days would Sharan alone have taken to do the job if Mayukh had
worked faster than Sharan?

Ans X124
V2 45
X372
X 430

Question ID : 9864492809
Status : Not Answered
Chosen Option : --

Q.12 s X, ‘A g & AT A AT § TeaA B 3T 80 e Temr § an
s 3T g5 I ¢, f 50 Rreeier seer § AR B fig W 9gT S EA
AR B Rgat & g & wgaA g G 37

Mr. X starts from point ‘A’ travels 80 km towards west, takes a left turn, travels 50 km
and reaches point ‘B’. What is the shortest distance between points ‘A’ and ‘B*?

Ans x 1 1(}@
X 2.10/98
V21089
# 410493

Question ID : 9864493662
Status : Answered
Chosen Option : 3

Q.13 frw 7= TWHN & T I[T TAE & B AR A AT F AT HEEsT
AT &7

Which state government has made yoga guru Ramdev Baba as the brand ambassador of
Yoga and Ayurveda?

Ans x 4 IR ga2r
Uttar Pradesh
X2 IFEIE R

Himachal Pradesh

Question ID : 9864492415
Status : Answered
Chosen Option :2

Q.14

Question ID : 9864494085
Status : Answered

Chosen Option :1
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o 9147 39 AW 39 OFEr H T § S AP AT S #a £ 560
HFAR, TN 2 AT FreT Tebot I T Y For TEA;T 2l

Engiish '&%B i

Tamil

English - 3@ Hindi - & Tamil - af@er

The given Vern diagram represents the students who can speak different langnages.
According to it, the total number of students who can speak exactly two languages is

Engiish qn%} binci

Tamil

Ans I L+M+0
K2N+ L
X3L+0
K4L+M+ 0O+ N

Q.15 5 nys #r 7if & IfeRfier 22 kg a1 aTel aFg & AT 31 frceT gli?

An object with a mass of 22 kg moving with a velocity of 5 m/s possesses a kinetic energy
of:

Ans 1275 J
# 21100 J
X 32750 J
X 4110 J

Q.16 faf@a & & #i9 9o 0T & AT 9Ive Fa% 1 HE BT &2
Which of the following serves as a nutritive tissue for the growing embryo?

Ans -
X1 CIreIEf
Ovule
JIAASA (Zygote)
X272
Zygote
| 3R
Ovary

TUSIETH

' Endosperm

x

v g

Question ID : 9864493480
Status : Answered
Chaosen Option : 1
Question ID : 9864493337
Status : Answered
Chosen Option :1
Question ID : 9864494093
Status : Answered
Chosen Option : 4
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e RF TIT T F Feg AT §U AF AT B o HUT % IR O HieT AT
Ty Af¥aa w9 @ Rerar s gar 2

SUA:

At F HE § & TR F N EEe oF A 3R seny gl sefew 3
W A T § W = Eew A ad

forss:

1. TR T FAAdT H FAERaT UaT Il TET fF TR & Far I
arelr T &1 AT & F HE
2. = # Iy = & e IfF s a=uf whE @ w9

Consider the given statements as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:

People think that paying tax to the government is a burden and waste. Hence, they avoid
paying tax or don’t pay tax promptly.

Conclusions:

1. Government should create awareness among the people that paying tax helps to
build nation.
2. Tax should be increased so that more money is collected.

Ans ?{:1_
Ty 1 3t a1 & ey 2 s = E

Neither 1 nor 2 follows.

o forses 2 38T Har gl
Only conclusion 2 follows.
; e 1 Tur 2 S AT R B

Both 1 and 2 follow.
% fshy 1 3¥egaor ST 2
4,

Only conclusion 1 follows.

X2

x

v

1 FegaTy FRET gER 2017 fREe ST &2 Question ID : 9864492221

Status : Not Answered

Who won the 2017 Hridaynath Mangeshkar Award?

Ans L e
Asha Bhosle
ITETAT HTSHAAT
Shabana Azmi

HTH T

Chosen Option : --

<2

X3
Anupam Kher
~ Javed Akhtar

Q.19
Question ID : 9864493819

Status : Answered
Chosen Option : 3
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Arr & o1g anfer # FaT 10, R A AR B S Femafy st @i e
F AT 3 Iy orEr fr A H Rar B

FT A H T w1 SO (T quEed Ui o) Rhdar 82

gioma

SeTHET

2

A

AT B
2

Zreit ot A
#r T P

$r For &I

2

28

23

Aoty ofem &
el wlfeheT T
e F o

et & g

|EAr

14

12

Aeamafe afeT A
T AT TS
ofieT & S

faeanfiadt #r e

HET

17

Bt afremat & arg
= arer faemfiat

 Fo wET

64

55

The following table gives the details of the number of students in Class 10 section A and

B who had taken mid-term and final exam.

The percentage of students in section A is

(round to one decimal).

Result

Sec A

SecB

Total number of
students who failed in
both exams

28

23

Total number of
students who failed in
mid-term but passed in
finals

Total number of
students who passed in
mid-term but failed in
finals

Total number of
students who passed in
both the exams

o4

55

X< 1513
v 2 51.1
#3512
< 4. 51

Q.20 4.0 Freitems Foeir T aFg RN Ry # ¥ | ReR ao aep @ woaw s
et ufy #e= Fr 0fy oog =0 & | g7 I B T w g |

A body of 4.0 kg is lying at rest. Under the action of a constant force, it gains a speed of 5

Ans

m/s. The work done by the force will be .

50T
VAR
507

303
X2~ °
30 7]

203
~ 3. =
207

40 FAA
X 4 o
407

Question ID : 9864493302
Status : Answered

Chosen Option :1

Q21 gy weret & gEeT H FET HROT F@T AR el J

of fats and oils.

Ans

The main cause of rancidity in foods is the

Question ID : 9864493629
Status : Answered

Chosen Option : 4
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QR FF AT g F AT - T o g TET F AR TR A A F o

& A T I - S fGFan Al GF 6 9ge 1Y, Se A § AN '@
a1g F A gt F TEAT A ag gl

Three-fifths of my current age is the same as five-sixths of that of one of my cousins’. My

age ten years ago will be his age four years hence. My current age is

Ans X 1. 60
X 2 55
X 5. 45
v i 50

years.

Question ID : 9864492973
Status : Answered
Chosen Option : 1

OB B AT FH H, BT BT 77 T9F FL

Xe ;( Xee *X X
(a) (b) (c) (d) (e)
Select the odd figure out of the given series.

Xe X Xee +X X

@) (b) (c) (d) (e)
Ans X 1. (b)
X2 (a)
# 3. (d)
v 4 (c)

Question ID : 9864494161
Status : Answered
Chosen Option : 4

Q.24 Sregdl SE] e ATell Ige 9T Fid | A41?
Which was the first country to introduce GST in its system?
v hrd

France

X 2 SHAT
Germany
K3 e 2
Australia
ETE)

Canada

Ans

X 4

Question ID : 9864492218
Status : Answered
Chosen Option : 1

bl

r
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Q.25 3fegaw & Feaw dae W avAw & seaw & o, o T & & Far Question ID : 9864493328
FTAT EIE: Status : Answered
To convert temperature from Celsius to Kelvin scale, you must: Chosen Option : 3
Ans : -
X feT 71T araAE 7§ ¥ 273 "erw

subtract 273 from the given temperature

5> v 1w araEe # 273 F T HY
| multiply the given temperature by 273
| few ore AT & 273 S
add 273 to the given temperature
< 4
few a7 aEE & 273 & Fafea w1
divide the given temperature by 273

v

Q.26 7% W wamEs fFEw w{ 3y P 5t & st d R S @ e

R ¥ Question ID 19864493720

Status : Answered

T Chosen Option : 1
F@ AT H9A BEST & 9= BT & 10% weladt & &1 haem & 2l

TR

1. 70 BEST @& a1 &9+ & %8 {00 el 3w 76 #7 feeT 9= Fa
Gl

2. B gfE & sig off S@ wiyat Fr T vger S & S @ g g

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
The BEST bus travels company has decided to increase its fare by 10%.

Assumptions:
1. Passengers may opt for other buses costing less than the BEST bus travels company.

2. The demand for the buses by passengers may remain unchanged even after the fare
hike.

Ans s At 2 o= RAfga &

Both 1 and 2 are implicit
 FEe AT 1 AR E
X2 2
Only assumption 1.is implicit
. Fad A 2 ARa g
~ 3 Y
Only assumption 2 is implicit

4.a-_rr-|’lr1 irafio/mfea

Neither 1 nor 2 is implicit

x

Q7 FT T WA ﬁ@ﬂ'—:’l’l‘ & Toar 'FJgrrar 97 Question ID : 9864492287

Status : Answered

Which Indian Chief Minister’s father was a ‘Maharaja’?
Ans h
x ;. CT% FEAAH
Devandra Fadnavis

2. ; m?

Chosen Option : 2

v
Amarinder Singh
X3 &. IgAE T

K Chandrasekhar Rao
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GECICHGIC
X4 ~ =
Chandrababu Naidu

Q.28 2 kg % T GETAN aTell a8 39T &1 HT 20 mfs & RS a1 d Hebr A 51 2
Fehs TG SIS Foil Fehct=il 81912 (g= 10 m/s?)
A body of mass 2 kg is thrown upward with initial velocity of 20 m/s. After 2 seconds, its
kinetic energy will be: (g= 10 m/s?) Chosen Option : 2

Ans 107
X 22007
X 3.4007
X 41007

Question ID : 9864493142
Status : Answered

Q.29 Rgeg DearET si@er YT
30 Wl fawed @ goF S 2 F O : Question ID : 9864493671

Status : Not Answered

ACT, EGG, INK, Chosen Option : --

Choose the correct alternative which will complete the series.

ACT.EGG.INK,
Ans o 1. OLD

< 2DIP

# 3 FUN

X<+ BYE

Q.30 ;.

45 -

Question ID : 9864494000

40 | Status : Not Answered

35 1

Chosen Option : --

30 2

25
20
15
10

5

o]

jan feb mar apr may jun

jan- STEdY feb- AT mar- AT apr- 3
may- ®S jun- T

fow 7w w3 At A ga izt F 2017 F ywaner 6 AEE A
o X # FU Sl H FE (FERt &) q6T ¢

e A H TEer wEAr Aeanstha & ¥ At gEh gwar o it £ 8

fET T ST & HYUR 9T, S ¥ 3% 2017 F 2, Ae-mnta &
3TATST AT TRET. & geieoT & e T w2

50

a5 -
40 -
35 -
30 {2
25
20
15
10
5

o

jan feb mar apr may jun

The given data shows the registration of bikes and total vehicles (in thousands) for 6
months in 2017 in City X.

Note: In the chart, the first number represents bikes and the second number represents
total vehicles.

Based on the given data, from January to April 2017, the increase in the registration of
vehicles other than bikes is .

Ans (1. 9050
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# 2. 8500
+ 39000
# 48000
Q.31 q.% C0t46 + C0t26 = 3 ﬁ ?‘ﬁ' 6059649— Coseczﬂ' =7 Question ID : 9864492897
If cot*® + cot?6 = 3, then cosec*d - cosec’d =? Status : Answered
Ans x 1 1 Chosen Option : 2
V23
X0
K42
Q.32 i -
&r oS 3“@% A foraer ﬁﬂj? g7 Question D : 9864493860
Status : Not Answered

Chosen Option :

How many triangles are present in the following figure?

Ans X112
X213
V314
X415

Q.33 Rl Fg 7 A, v Rest oF ¢ # R w N T §, S O

T T A O Ny - o — Question ID : 9864492869
o7 2t ﬁm&ﬁl’ﬁ:ﬁmmmmmﬁmm|m 79 51T Status : Not Answered
frews @1 gt ed 7 EER & WA = % e g fede wee) g Chosen Option : --

# (emr?

In a computer game, a builder can build a wall in ten hours while a destroyer can demolish
such a wall completely in fourteen hours. Both, the builder and the destroyer were initially
set to work together on level ground. But after 7 hours the destroyer was taken out. What
was the total time (in hours) taken to build the wall?

ans X117
V215
X224
X435
Q.34

Question ID : 9864493856
Status : Answered

Chosen Option : 3
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afE 7o ©fF (Problem figure) & =18 o 90T @ § &1 o Hr FEr g9
ofy o

Problem Figure
: A
B
Answer Figures

YA@ AB% AC@ A%

Choose the correct mirror image of the problem figure if the mirror if placed to the right of
the figure.

@AE
A A
NS

B Cc D

Y

Ans x1_c
X2 A
VB
X 4D

VISIT www.exammix.com FOR LATEST EXAMddRIMAIES, NEWS & STUDY MATERIALS

Q35 qIqe FAT F T HRTHAT ART 3T FAl -

Metals reacts with acids to give:

Question ID : 9864493272
Status : Not Answered
Chosen Option : --

o, T AR FedE
A salt and Chlorine
| & 3R gt

A salt and Hydrogen
x5, o Eirgie)
A salt and water
, USR8
A'salt and base

v

<

@38 2016 # Heife W FiaT ¥ W H FAST g A2
The 2016 Olympics was held in which city?

Question ID : 9864492209
Status : Answered
Chosen Option : 3

Ans
F R eTa

Rio de Janeiro
x 4 AT @dr

Mexico City
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Q.37 fr 71T W H eTEF U¢ AR FAW F FEH F 3N & F v

Question ID : 9864493840

ffefag suat & @ sia owea 378

Status : Not Answered
P, Q R, S dR T & gawr 7 39 frme 2 Chosen Option : --
FYA:

1L QFTTFTP IS TFA T TN S A TTFT T T G &
2R TFIQT 3w = Ta s Y

Consider the given question and decide which of the following statements is sufficient to
answer the question.

‘Who among P, Q, R, S and T is lightest in weight?

Statements:

1. Q weight <P and S also S weight > T
2. Rweight>Qbut<T

Ans ?{:1_
A FUF 1 AT § TS FI FUT 2 yqAT &

Statement 1 alone is sufficient while statement 2 alone is insufficient

xzmam;mshmmmzw‘r'-—rr%
Neither statement 1 nor 2 is sufficient
v P 3T Fua 2 =T gAeT &
- Both statement 1 and 2 are sufficient
X4
Fael HUT 2 qICT § Faleh G HUA 1 HIAT §

Statement 2 alone is sufficient while statement 1 alone is insufficient

Q.38 forafof@d & & #ia & g FAWT do F TR g E ? Question ID : 9864493251

Which of the following metals is stored in kerosene 0il? Status : Answered
Ans . Chosen Option : 2

F orem
Copper
afzTH

.Sodhnn

wolfeaH

Platinum

T

' Gold

X 3.

X 4

Q-39 20.0 om #¥ G 5 P AToF T JFATe T A Wi ol @ Question ID : 9864493063

The focal length of a concave mirror with a radius of curvature of 20.0 cm is: Status : Answered

Ans ?{ 1. 20 cm Chosen Option : 3
X 25cm
v 310 cm
X4 15cm

Q.40 Zerre & v TaOT F T g B FeoT 1 g A 21 A d oAy

] . Question ID : 9864492786
A 4 oirer T i e Rar e & R & g @ s Fw
Status : Answered
SET? _
% of a milk-water mixture was milk. There was 21 litres of the mixture. If 4 litres of water Clriosen i s
is added to it, the percentage of milk in the new mixture will be:

Ans ."1 56
X211
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< 3 44
X 414

Q.41 7T A, B3 CEEER & UEE & ¥ # wattyd § | A AF WA

FeaA 7 AT CF 30 §,S B F AN SeA e g m 2

. . . . Status : Answered
Elements A, B and C occur as Dobereiner’s triads. If the atomic mass of A is 7 and that of

C is 39, what will be the atomic mass of B? Chosen Option : 3

Ans ‘,1, 20
< 2 40
X 323
X 412

Q42 Prafafeg 4 & @ Fa @ AT T Sa & seae S A

Question ID : 9864493605

Status : Answered
Ans X 1. H,S Chosen Option : 1

<2 CO,
X 3. CH,
v 4 CO

‘Which of the following gases is not generated in a biogas plant?

Question ID : 9864493394

Q.43 i 3 3 B (TR TrE) oer
e 3T s o et § 3 e ¢ ST ST, Question 1D : 9864493364

H IR E:
If you look into a mirror and find that the image (your reflexion) is smaller than you, then T Sl i e
the type of the mirror is: Chosen Option : 2
Ans HIde g9oT
<1

concave mirror
v Scciol 9T
convex mirror
| THCTeT-Becel guuT
plano-concave mirror

4_1qna?-ra'5rm

plane mirror

x

x

Q44 ﬁﬁﬁ'\:@?—r fl' ﬁ' HiT AT Uk FEI‘\FI'IEF o= %‘7 Question ID : 9864492442

Status : Not Answered

Which of the following is a reducible fraction?
Ans 79
K=

26

«2 105

112

X2

17

K2

15

45 A ar Tlé' et # ¥ *ia O of|y Question ID : 9864492904
m aﬁ. g..) Sta.tus iAnswered
Chosen Option :1
Which of the numbers given below is NOT rational?
Ans x 1. vg
X 2 364
X 3 \64

file:///C:/Users/CG/Downloads/Qp%20(2).html# Downloaded from - www.exammix.com 14/23
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v \8
Q.46 raeat & ;
few ame H § T FATT S F TS B Question D : 9864493804
Status : Answered
g% : gl Chosen Option : 3

Choose the correct analogous word pair from the given alternatives.

Carpenter : Hammer
Ans hd
FUET ;. AEH
F ! "
Computer : Writer
X2 et : Tae=T
Crane : Builder

1—:&5@‘ . ThseT
Axe : Logger
dAeTH I . YldAT

o 4
Plumber : Wrench

X 3.

Q47 7 3x? + ax + 4, x- 5 ZFW A =T @ @ g # A= Gaew 2
If 3x% + ax + 4 is perfectly divisible by x — 5, then the value of a is:

Question ID : 9864492957
Status : Not Answered

Ans X' 1._ 5§ Chosen Option : -
v2-158
K3 -12
K4 -1586

Q.48 frAfeEd 7 ¥ R THETE TO % & FgeaoT =aa I w2 #:

Question ID : 9864493207

Tt e & g @ e

L . . . | Status : Answered
‘Who among the following laid the foundation of chemical sciences by establishing two
important laws of chemical combination? Chosen Option : 1

Ans 1 SIS Tl AIBEE

Joseph L. Proust

V2 TSI U SIS
Antoine L. Lavoisier

x5 HATE TEIFIS

Ernest Rutherford

SAIfhaH

Democritus

K 4

Question ID : 9864493800
Status : Answered
Chosen Option : 3
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o fAfew & Fia @1 foead e v a7 #7 awqer T wa §

U
T hae HaX asfendl & oMy I § | X gat &

o
1. X TSar & mér HEf
2. X T=ar ¥ gy g7

Decide which of the conclusions logically follow(s) from the information given in the
statement.

Statements:
Politicians marry only beautiful girls. X is beautiful.

Conclusions:
1. X will marry a politician
2. X won’t marry a politician

«1ma’r1m23@mm%

Either 1 or 2 follows
e fshd 2 3TEROT T ¢
2.

Only conclusion 2 follows

|1 3R 2 gt srgeer w8
Both 1 and 2 follow

| F forspd 1 3gERor FXaT &

Only conclusion 1 follows

x

x

<

Q.50

Ans

Wieard 51T (Problem figure) #r & Sier ST b T4

Problem Figure

-

gl

Choose the correct water image of the problem figure.
Problem Figure

A

Answer Figures

o) [ 1) [

A B c D
A 1D
K2 A
vsC
X 4B

Question ID : 9864493866
Status : Answered
Chosen Option : 4

Q.51

Question ID : 9864493824
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:Answered
12

A battlefield always has:

aradr
Elephants

=

Soldiers

W 3 S
Arrows

Ter
. Chariots

Ans
r

< 2

X4

G2 g 15 R swer H § T AT # g

Question ID :
Status :
Chosen Option :

9864494284
Answered
4

A ¥ Z L

1 2 3 4 5

Select the odd figure out of the following figure series.

A

1

X2
X 21
V5
X4 4

Ans

Q.53 T FEIT F 25 TSR T SETSAT T ATET 150 em T 3T F& 7 35 ot Fr waEar
FT AT 145 cm §| FaT 7 Tt 60 et S Skt 1 wgea A s
foraaT e

The mean height of 25 boys in a class is 150cm, and the mean height of 35 girls in the
same class is 145 cm. The combined mean height of 60 students in the class is

Question ID :
Status :
Chosen Option :

9864492637
Not Answered

(approximately)

#1146
< 24143
v 3147
X 4145

Ans

Q.54 7750 37 TR T W 3 FE 1 =@ 718 # Wi IW HUROT SO # &
T &2

T 750 invested for 3 months gave an interest of T 18. What was the simple rate of interest
per annum?

Question ID :
Status :

Chosen Option :
Ans

9864492827
Not Answered

v 1 96%
X 224%
X3 72%
X 412%

Q.55
Question ID :
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Folli 37 F 37EET A § @ e @A F O S g Status : Answered

Chlorine gas is used in the manufacture of: Chosen Option : 3

Ans afSHeT arBET

SellT=IeT TT38T
| Bleaching powder
, afer et
Baking soda
< 4 ?:'I:?vl'lé' w=t
Washing soda

V!

x

Q.56 v Iea T TG TR 75° & FIOT I 3R g% TR f v g dee & o g
AT ¢ T FIe@at @l gedt 1 37 &F Tr=aatt & 3ifoe figat W dier =,

[ECcEEieET o) F Status : Not Answered
Chosen Option : --

Question ID : 9864492518

To draw a pair of tangents to a circle which are inclined to each other at an angle of 75°,

it is required to draw tangents at the end points of those two radii of the circle, the angle
between whom is

Ans K 1. §5°
< 2. 950
< 3. 750
W 4.105°

Q.57 grer WEd wIed TR e 8T # AUl FEtes sqaey & fore fam
ST &2

The Dadasaheb Phalke Award is awarded for significant public achievement in which
field? Chosen Option : 3

Question ID : 9864492334
Status : Answered

Ans ?<1_qzﬁﬁﬂiFw

Journalism

e
Literature
fhesr
Films
Wer

' Sports

~ 2

v &)

K4

Q.58 ‘Famfawe & afesar s v feY it aar & @ gé e o= E
TEeRg & @ Fia |5 2gar edar ¥ a9 & @ 8

The ‘Kathopanishad’ captures the conversation between a young boy named Nachiketas
and a god. Which of the following gods is talking to Nachiketas? Chosen Option : --

Question ID : 9864492127
Status : Not Answered

Ans HIEATT TH

v Lord Yama

, ST Hicishd

Lord Karthikeva

ST &5

Lord Indra

x 4, ST farg
Lord Shiva

x

< 3.

Q.59
[ Question ID : 9864494164
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Hieer & & e @ wafdw § o e ¥ Hafd &

‘Food’ is related to ‘Refrigerator” in the same way as ‘Clothes” is related to

Ans K1_1=rm=,‘i‘r

Material
=

2

Fold
. SR
Closet

IR
Garage

3

K4

Status : Answered
Chosen Option : 3

Q.60 st dreifes gTE o #1 AT aarsw faegi= Rt SRreriT # waot vgs wrea
o) 3 2017 T @ wEATAT e T §

Name the Indian paralympic high jumper who won gold at the Rio Paralympics. He was
awarded the Padma Shri in 2017.

", ST
Devendra Jhajharia

2

Mariyappan Thangavelu
X 3. g TR
Narender Ranbir

JEUT AT
Varun Bhati

v

< 4

Question ID : 9864492340
Status : Answered
Chosen Option : 1

Q.61 ﬁm gol Eb—i—

—={—45 — (-96) + (-32)} =7

Solve the following:

— {45 — (=96) = (=32)} =7

Ans of 112
< 2.10.5
X3 12
X 4 2105

Question ID : 9864492799
Status : Answered
Chosen Option : 1

Q62 Trafaf@d # & HiaT &7 Tpfa # H3i 30kl 741 araT g7
Which of the following never occurs singly in nature?

Ans aga'
F
Inertia

X2 Hef?l
Momentum

s ol
Force

T

4
Velocity

Question ID : 9864493519
Status : Answered
Chosen Option : 1
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Q.63 2 gy, T W HH S UFHET: R A A 6 O ol 4 9 F o we

& S e Awd wET S A 8 BT A WA FT HHEAT ¢ 7@ TH el g%
o ot it et Tt F v T @er Rar e Er w ogft e & s 7
TohdaT THT eRIEm?

Two pipes, when working one at a time, can fill a cistern in 3 hours and 4 hours,
respectively while a third pipe can drain the cistern empty in 8 hours. All the three pipes

were opened together when the cistern was ﬁ full. How long did it take for the cistern to
be completely full?

2 ue
2 hours

2_1sjzr45m;|z

1 hour 45 minutes

5 29e 10 e
2 hour 10 minutes

4.2a'%11'ﬁnazr

2 hour 11 minutes

x

x

x

Question ID : 9864492952
Status : Answered
Chosen Option :1

Q.64 Tordlr Tags # WAV ST A & AT FAW 3 om AR 4 cm AT # 5w

Ans

Brf=r & aftge &1 d=wa = g

The two sides holding the right-angle in a right-angled triangle are 3 c¢m and 4 cm long.
The area of its circumcirele will be:

v 6.251 cm?

6.25T cm?
6.751 cm?

6.75T cm?

51 cm?

51 cm?
71 cm?

X 4

71 cm?

Question.ID : 9864492754
Status : Answered
Chosen Option : 1

Q.65 o W eargds REn wt A ok wf fe gwd A & wE S @ sgan

fafea & &

T
SIS AU B R B

AT
1. THU FIAT HIT Sl aT cafFd & Tareed & B gfaens §
2. AU HESeE FE W e Al & e & v ot e €

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
Public smoking is an offence under the law.

Assumption:
1. Smoking is injurious to the health of the person who smoke.
2. Smoke is injurious even to others health in the public places.

Ans K1_;ra’r13ﬂ'\r;r€rziﬁﬁ%?r%

Neither 1 nor 2 is implicit
Fad 3gAET 1 kT &
X2 2

Only assumption 1 is implicit

Question ID : 9864493694
Status : Answered
Chosen Option : 3
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ol AT 2 Afea &

Only assumption 2 is implicit

1 3R 2 gt fafgT &

Both 1 and 2 are implicit

v &)

Q66 g g SR ATATAT
Teh 3 H1 Iy fohdeh sgehATeare 2lar 87 Question ID : 9864493546

Status : Answered
Chosen Option : 4

The resistance of a conductor is inversely proportional to its:

Ans hd
o T
length

X2

resistivity
GlerIG)

3.
temperature

TIELT 19T hT &9 6ol
i °

area of cross section

Q.67 ‘mear geer & WEEew A W &% 3 &7 §, S & ‘weles w1 mEEew
F &
‘Madhya Pradesh’ is related to ‘Diamond’ in the same way as ‘Karnataka’ is related to

Question ID : 9864494114
Status : Answered
Chosen Option : 1

Q.68 Ffy onfAer @l 3T ofr 31frer RfErerar oqe=t &F suatn

If is mvelved, even greater diversity will be generated.

Question ID : 9864493638
Status : Answered

Ans ion -
E}fﬁ"a.—, U Chosen Option : 3

sexual reproduction

xz_alsﬂ?rﬁ'da:r

binary fission

Hol AR U
X3

asexual reproduction

TS SAdeT
X 4

vegetative propagation

Q.69 arfe foheerer T GTAIY] HEAT 36 ¢, AT 3T Solclicieh =g gham:

If the atomic number of Krypton is 36, then its electronic configuration is:

Question ID : 9864493293

Status : Answered
Ans
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Chosen Option :1

0 FfEa+b+c = 0,ar(a®+b*+c?)? =7
Ifa+b+c = 0,then(a’®+b°+c°)? =
& 1. 27abc

& 2. 9abc

X 3. 3a2h%c?

v 4 9g2p2c?

Ans

Question ID : 9864492584
Status :
Chosen Option : --

Not Answered

Q.71 re i d i ARF 3619 e s #| ol smm s 7 & e
FF 8 ¢ 11 &, 7 T 3 5719 3 forret witer aemy 7y 2
There are saplings of 361 Mango tree and Neem tree in a garden. The ratio of the number
of Mango tree to that of Neem tree saplings is 8 : 11, then how many Neem tree saplings
are in the garden?

Ans

v 1209
X 2171
X 357

X 4152

19864492545
:Answered

Question ID
Status
Chosen Option :1

72 _261+(—380)—(—521)+821—(—121) & AT ¢
The value of —261+(—380)—(—521)+821—(—121) is:
X< 1833
X 2825
V' 822
X 4800

Ans

19864493884
:Answered

Question ID
Status
Chosen Option : 3

Q.73 frw vl fdr AfEw & 378 3 ‘guw ggF & v oW == 2017

Which eminent Hindi writer was chosen for the Vyas Samman 2017 for her work
‘Dukham Sukham™?

Ans

. Namita Gokhale

| Her e
Meena Kandasamy

x o T T

Jhumpa Lahiri

x

19864492393
:Not Answered

Question ID
Status
Chosen Option : --

Q.74 zfzem #r H¥FA F FROT Tpias HIEIHT F FHAT FIT I5T ¢
Odisha often faces natural disasters due to .
Ans
Heb9
X
earthquakes
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Q.75 & 7% oY &= Ry v ax Rt # G e 7 aefea ¥ a9 & o
ofy g7 9w faedt # & forwd o g9 8

Question ID : 9864493823
Status : Answered

E Chosen Option : 1

TR

A B

The following figure is embedded in one of the four answer figures. Which figure contains
the problem figure?

2

BN

A B

Ans «TB
X2 A
X 3D
X4C
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